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Motivation: Expand the following binomial products...
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Do you notice a special pattern? To multiply these binomial squares you can...
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The result when you square a binomial is called a perfect square trinomial...
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Examples: Try multiplying these binomial products by using the pattern! Write down the pattern first.

a) (x +4)? I

b) (k —5)?
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Motivation: Ex;:)and the following binomial products...
a) (x—2)(x +2) b) (x +5)(x — 5) o (2x—1)(2x + 1)
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Do you notice a specual pattern? To multiply these binomial squares you can..
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The result when you multiply the sum and difference of two terms is called a difference of squares...
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conjugates. x + 3 and
X =3 are conjugates.
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Examples: Try multnplymg these binomial products by using the pattern! Write down the pattern first,
a) (x+4)(x - 4)
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b) (3k—7)(3k+7) c) (46—3f)(48+3f)
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Example: Are the following expressions perfect square trinomials? If so, could you write them in the
form (a + b)? or (a — b)??
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Example: Are the following expressions Hifferences of squares. If so, could you write them in the form
(a + b)(a—b)? |
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Example: The radius of a circular heliéopter landing pad is increased by 3 m.
a) Find a simplified expression for the area of the new circle.

b) Find a simplified expression for the increase in area.
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